2021-10-14_Exercises.notebook

B Fuene 2.9 X=h U2

bL (0) = r . SLCO,: (s

October 14, 2021

Aty S Y3

erq $0/¢
ﬂ et Lo
S ( o 162 bolq ¥0/2

12/4 (2] A/1q

( ] € 1

S#(l(/u L 4 :
L "

K T R L

=T t(t\ _-31:(9)
We s~ % & et &>0 b C&LS )

AS‘( 2 .

*ro) , t(a\
& Qo S"(La)>(¢-3t“ )T @)



2021-10-14_Exercises.notebook October 14, 2021

& [, 4646+ b =L Be= 1~ G-ty =,
U
=) LGy #4060, 4285 =3 $_})
—4G6, —1 6y =2

£ 6,+ (Qy + 46y +20y= T
AL G +3G, ¢ dQ, {—(2&-12-{6

>) Oy ), - &2 ;=> &t-;;{]_ (3_Haz—z(f/z-az))
e + e 428,25 = -42—- (l- 82)

Boa= D ““K"“?‘j—

O = L (£-)) P /D A R |
A wel- Xe(a 1
>(%(L >)/>/4/Z_}/ /L) Ao = Q@ D06
Ve mr—red 2 oSrdasn }w lecrww Mo wh o RUTPM
A\ N W/Jc? ( F‘FTAVB

-
4 (L-2 =) « _'L->\)



2021-10-14_Exercises.notebook

October 14, 2021

E 5’\',\ “‘) = M / SU\-z (3,_ U',»...\‘,(,,,)T
D (4 koot
€ B
® = VB - l-
Brd - U
- V(K = H, D(x + 2 Hao S (4
VARG H, + i U SH (4)
,._/\_,’_ P
~) Yomw AKX VE (% V%:L‘.
V= He Bk 3 e Sew
AT vy o
w) = VY
= A U—lo B4 + 2; N e +|> =

By



2021-10-14_Exercises.notebook October 14, 2021

L) Ve A VEH) = VI 0T
"L_c;»@\ )(u Cf‘a % W— AS:

nNs"v

The= & T (1)
V*(L) = Ho 4 Z~ {n on v - < W
N, ~ i U Se - me >~ “3““ ~)
Affk " ®
_ e ST ¥ 2 Ha B35
- Ho + %‘- 4)"\/\/;/"
\ﬁ/‘/_/_

YAL) &



2021-10-14_Exercises.notebook

2.

October 14, 2021

K=3 ,N=L .a=ly (=5
Sl = (250 v %)

oy =14 =1

H= (Ve He)T e by b
4%y /5 AS A) = L A Sty
/\' = 16/1 ‘l‘/i '
S (L ) ( 1oy 30/1> Y9 )
—_—



2021-10-14_Exercises.notebook October 14, 2021

A S( ) H 4/2 “/. + S/) He
. A H o=
(Y 4/1 Ho — S./Z H( >

(/2 Hs = S(b HL/

5 = VTl - VR ,4; A)
by Bt vl ‘&

H.
H‘ ‘\.(\-‘L 'L
= M. ¢ He — {\H’ fYHL) ( t(,) ) Q:S(:f)
(. + YHe

AU»MAM%I" oo j”" Z”"E‘j; i (()
STREECEE Bt

{
s -L
S I G X ()



2021-10-14_Exercises.notebook October 14, 2021

5 & fone. AL& 0(%0;}.;“ ga 0*(() RPN G{
- 4 N, + (W
Vo o= W+ He S¢<‘)=H»+"<(w)= Mo+ 46

3
H, + dHe

4 He
Al = Ve o5t = H l:;) - (‘L)



	Side 1
	Side 2
	Side 3
	Side 4
	Side 5
	Side 6
	Side 7

